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12. Use the protractor to find the following angle g 18. Are 26 and £8 vertical angles? Why or why
eBommEom. Then classify the angle as acute, right, not?

obtuse, or straight.
‘ gc Are 22 and £5 vertical angles? Why or why
not?

%. 0. Construct a segment congruent to XY .
a) m£AOC b) m£EOD
q Y
13. You travel from City X to City Y. You know . VA
that the round-trip distance is 647 miles. City Z, a Lo

city you pass on the way, is 27 miles from City X.
Find the distance from City Z to City Y. Draw a
diagram, and show all work.

Diagram:

@m_. Construct an angle congruent to 2ZK

Work:

ez. The measure of an angle is 12° more than twice
"/ the measure of its complement. Find the measures

of the each of the angles.

15. Name 3 different angles in the diagram.

N @ 22. Construet the angle bisector of 22
H

For #16-19, Use the diagram. .
eH 6. Identify all angles that W
make a linear pair with 21.

M/r .

J/m @ 17. Identify all angles that
? make a linear pair with 27, - ¢

N

iy




